East Ayrshire Council

Transfers Report

This report contains the transfers results.

Contest Name

Ward 7 - Ballochmyle

Valid Votes
4,646

Positions to be Filled
Quota

930

Stage 1

Candidate Name	Affiliation	No. of Ballot Papers
Linda HOLLAND	Scottish Labour Party	1,085
Claire LEITCH	Scottish National Party (SNP)	1,301
William LENNOX	Scottish National Party (SNP)	542
Stephen MCCARRON	Scottish Labour Party	432
David SHAW		507
Alyson SIMMONS	Scottish Conservative and Unionist	779
	Total	4,646

Candidate Linda HOLLAND Elected with 1,085 votes, being in excess of the quota of 930 Candidate Claire LEITCH Elected with 1,301 votes, being in excess of the quota of 930

This report contains the transfers results.

Stage 2 - Surplus of Claire LEITCH

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to William LENNOX	1,127	0.28516	321.37532
Transfer to Stephen MCCARRON	44	0.28516	12.54704
Transfer to David SHAW	56	0.28516	15.96896
Transfer to Alyson SIMMONS	10	0.28516	2.85160
No further preference	64	0.28516	18.25024
Not transferred due to rounding			0.00684
	Total		371.00000

This report contains the transfers results.

Stage 3 - Surplus of Linda HOLLAND

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to William LENNOX	45	0.14285	6.42825
Transfer to Stephen MCCARRON	848	0.14285	121.13680
Transfer to David SHAW	68	0.14285	9.71380
Transfer to Alyson SIMMONS	31	0.14285	4.42835
No further preference	93	0.14285	13.28505
Not transferred due to rounding			0.00775
	Total		155.00000

This report contains the transfers results.

Stage 4 - Exclusion of David SHAW

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to William LENNOX	104	1.00000	104.00000
Transfer to Stephen MCCARRON	119	1.00000	119.00000
Transfer to Alyson SIMMONS	124	1.00000	124.00000
Transfer to William LENNOX	26	0.28516	7.41416
Transfer to Stephen MCCARRON	7	0.28516	1.99612
Transfer to Alyson SIMMONS	2	0.28516	0.57032
Transfer to William LENNOX	4	0.14285	0.57140
Transfer to Stephen MCCARRON	34	0.14285	4.85690
Transfer to Alyson SIMMONS	9	0.14285	1.28565
No further preference	160	1.00000	160.00000
No further preference	21	0.28516	5.98836
No further preference	21	0.14285	2.99985
Not transferred due to rounding			0.00000
	Total		532.68276

This report contains the transfers results.

Stage 5 - Surplus of William LENNOX

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Stephen MCCARRON	178	0.05274	9.38772
Transfer to Alyson SIMMONS	28	0.05274	1.47672
Transfer to Stephen MCCARRON	336	0.01504	5.05344
Transfer to Alyson SIMMONS	45	0.01504	0.67680
Transfer to Stephen MCCARRON	28	0.00753	0.21084
Transfer to Alyson SIMMONS	3	0.00753	0.02259
No further preference	440	0.05274	23.20560
No further preference	772	0.01504	11.61088
No further preference	18	0.00753	0.13554
Not transferred due to rounding			0.00900
	Total		51.78913

This report contains the transfers results.

Stage 6 - Exclusion of Stephen MCCARRON

706.18886

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Alyson SIMMONS	150	1.00000	150.00000
Transfer to Alyson SIMMONS	16	0.28516	4.56256
Transfer to Alyson SIMMONS	249	0.14285	35.56965
Transfer to Alyson SIMMONS	106	0.05274	5.59044
Transfer to Alyson SIMMONS	181	0.01504	2.72224
Transfer to Alyson SIMMONS	12	0.00753	0.09036
No further preference	401	1.00000	401.00000
No further preference	35	0.28516	9.98060
No further preference	633	0.14285	90.42405
No further preference	72	0.05274	3.79728
No further preference	155	0.01504	2.33120
No further preference	16	0.00753	0.12048
Not transferred due to rounding			0.00000
	Total		706.18886